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Direction: Write your name and ID number and circle your section
number. Answer the questions in the allocated spaces, if more space is
needed continue on the back. NO CALCULATORS ARE ALLOWED!!!
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a~ Draw the graph of f.




b- Find its domain and range.
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II- (20 points) Find the asymptotes and sketch the graph of
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III- (20 points) Find the limit or explain why it does not exist.

a- 1'11’:131-9_122 _‘;-—\-m )(-—-) 3"'
4. x>0
b- limﬂ - -%)‘-w, X()(—/-27 - ?wn
Tt o2 X —> (')(—H) * L
o (x A



: 1 -
, 2+ 5 . g L’I___b___ = =
¢ lm - ' 3
m—»—oo]gg|_-3 Ay - —X -
Sm\n(xfB)
. sin(z — 3) - Wis 0
d- M7 9z -3 X >3 (- DX
S{ﬂ(x'%) /—S—"""
= Ve ) \
X~ % -3 X
\ - L
- i ’}: Ly




',uﬁ’i..l..f’- L

t

. IV- (15 points) Let f(z) = 1 _lﬁ and g(z) = 25— 2*

a- Find f o g(x)-
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b- Find the domain for f o g.
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V- (20 points) Let flx) =z

a- Find the slope of the tangent line to the curve y = f(z) at = = a.
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b- For which value of a is the tangent line to the curve parallel to the line
4y — 2z = 317
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¢~ Write the equation of the tangent line at this point.
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